
Nom: 　　　　　　　 Date: 　　　　　　 Note: 　　　

Multiplier les nombres décimaux par des puissances
négatives de dix

6578, 8 × 0.001 = ________ 7863, 5 × 0.001 = ________

4525, 3 × 0.01 = ________ 6267, 5 × 0.01 = ________

3178, 1 × 0.001 = ________ 3680, 3 × 0.1 = ________

5176, 3 × 0.1 = ________ 1982, 3 × 0.0001 = ________

5227, 3 × 0.1 = ________ 7625, 2 × 0.001 = ________

4300, 2 × 0.1 = ________ 6112, 3 × 0.01 = ________

1001, 5 × 0.1 = ________ 6944, 4 × 0.1 = ________

5097, 1 × 0.001 = ________ 9910, 7 × 0.1 = ________

7004, 9 × 0.1 = ________ 7792 × 0.01 = ________

4453, 6 × 0.01 = ________ 7413, 1 × 0.001 = ________
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Nom: 　　　　　　　 Date: 　　　　　　 Note: 　　　

Multiplier les nombres décimaux par des puissances
négatives de dix

6578, 8 × 0.001 = 6.5788 7863, 5 × 0.001 = 7.8635

4525, 3 × 0.01 = 45.253 6267, 5 × 0.01 = 62.675

3178, 1 × 0.001 = 3.1781 3680, 3 × 0.1 = 368.03

5176, 3 × 0.1 = 517.63 1982, 3 × 0.0001 = 0.19823

5227, 3 × 0.1 = 522.73 7625, 2 × 0.001 = 7.6252

4300, 2 × 0.1 = 430.02 6112, 3 × 0.01 = 61.123

1001, 5 × 0.1 = 100.15 6944, 4 × 0.1 = 694.44

5097, 1 × 0.001 = 5.0971 9910, 7 × 0.1 = 991.07

7004, 9 × 0.1 = 700.49 7792 × 0.01 = 77.92

4453, 6 × 0.01 = 44.536 7413, 1 × 0.001 = 7.4131
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